

Finite Euclidean graphs over \mathbb{Z}_{2^r} are non-Ramanujan

LE ANH VINH*

*Mathematics Department
Harvard University
Cambridge, MA 02138
U.S.A.
vinh@math.harvard.edu*

Abstract

Graphs are attached to $\mathbb{Z}_{2^r}^d$ where \mathbb{Z}_{2^r} is the ring with 2^r elements using an analogue of Euclidean distance. M. R. DeDeo (2003) showed that these graphs are non-Ramanujan for $r \geq 4$. In this paper, we will show that finite Euclidean graphs attached to $\mathbb{Z}_{2^r}^d$ are non Ramanujan for $r \geq 2$ except for $r = 2$ and $d = 2, 3$. Together with the results in Medrano et al. (1998), this implies that finite Euclidean graphs over \mathbb{Z}_{p^r} for p prime are non-Ramanujan except for the smallest cases.

1 Introduction

Finite Euclidean graphs have been studied by many authors (see [10]). In [8], Medrano, Myers, Stark and Terras studied the spectra of the finite Euclidean graphs over finite fields and showed that these graphs are asymptotically Ramanujan graphs. In [2], Bannai, Shimabukuro and Tanaka showed that these graphs are again always asymptotically Ramanujan for more general setting (i.e. they replace the Euclidean distance by nondegenerate quadratic forms). The author recently applied these results in several interesting combinatorics problems, for example tough Ramsey graphs (with P. Dung) [12], Szemerédi-Trotter type theorem and sum-product estimate [14], the Erdős distance problem [13] and integral graphs (with S. Li) [5].

Medrano et al. [9] study a finite analogue of real symmetric spaces, namely the finite Euclidean space $\mathbb{Z}_{p^r}^d$ over the finite ring \mathbb{Z}_{p^r} for odd prime p using a finite analogue of the usual Euclidean distance. It is shown that, for p an odd prime, Euclidean graphs over $\mathbb{Z}_{p^r}^d$ are non-Ramanujan for $r \geq 2$ unless $p = 3$ when $r = d = 2$ (see Medrano et al. [9], Theorem 2.5). The case $p = 2$ was avoided as this case is unwieldy. DeDeo [4] addresses the question of how graphs attached to $\mathbb{Z}_{2^r}^d$. She

* Supported by the Erwin Schrödinger International Institute for Mathematical Physics, Vienna, Austria

shows that Euclidean graphs over $\mathbb{Z}_{2^r}^d$ are non-Ramanujan for $r \geq 4$. Although the degree and the spectrum of the Euclidean graphs over \mathbb{Z}_{p^r} can be related to the degree of the Euclidean graphs over \mathbb{Z}_p for odd prime p , the degree and the spectrum of the Euclidean graphs over \mathbb{Z}_{2^r} can only be related to the Euclidean graphs over \mathbb{Z}_8 by DeDeo’s method. This bars her from proving that the Euclidean graphs over \mathbb{Z}_{2^r} are non-Ramanujan for $r = 2$ and 3 . Note that, a part of the motivation to study these graphs is to find finite analogues of real Euclidean space \mathbb{R}^n and analogies to the harmonic analysis on \mathbb{R}^n as discussed in Terras [11]. This has been of interest to physicists for some time in areas such as statistical theory of the energy levels of a complex physical system. The analogous properties, the distribution of eigenvalues and eigenfunctions associated to finite Euclidean graphs, are discussed in Medrano et al. [9], and DeDeo [4].

In this paper, we will show that the Euclidean graphs over \mathbb{Z}_{2^r} for $r = 2$ and 3 are also non-Ramanujan except for the smallest cases, $r = 2, d = 2$ and 3 . Together with Theorem 2.5 in Medrano et al. [9] and Theorem 11 in DeDeo [4], we have a complete picture of the Ramanujancy of finite Euclidean graphs over \mathbb{Z}_{p^r} (Theorem 11).

The rest of this paper is organized as follows. In Section 2, we summary preliminary facts of finite Euclidean graphs over \mathbb{Z}_{2^r} and study the spectrum of these graphs. We show that eigenvalues of the finite Euclidean graphs over \mathbb{Z}_{2^r} also can be related to Kloosterman sums and Gauss sums (Theorem 7) as in the odd case (see Theorem 2.9 in [9]). We then prove that the finite Euclidean graphs over rings are non-Ramanujan except the smallest cases in Section 3.

2 Spectrum of finite Euclidean graphs

Let \mathbb{Z}_{2^r} be the ring $\mathbb{Z}/2^r\mathbb{Z}$, $r \geq 2$. We identify \mathbb{Z}_{2^r} with $\{0, 1, \dots, 2^r - 1\}$ and regard $\mathbb{Z}_{2^{r-1}}$ as a subset of \mathbb{Z}_{2^r} . The finite Euclidean space $\mathbb{Z}_{2^r}^d$ consists of column vectors x with j th entry x_j in \mathbb{Z}_{2^r} . Define the distance between x and y in $\mathbb{Z}_{2^r}^d$ by

$$\Delta(x, y) = {}^t(x - y).(x - y) = \sum_{i=1}^d (x_i - y_i)^2. \tag{2.1}$$

This distance has values in \mathbb{Z}_{2^r} and it is point-pair invariant.

Given a in \mathbb{Z}_{2^r} define the finite Euclidean graph $E(2^r, d, a)$ with vertices the vectors in $\mathbb{Z}_{2^r}^d$ and two vectors being adjacent if and only if $\Delta(x, y) = a$.

Let Γ be an additive group. For $S \subseteq \Gamma$, $0 \notin S$ and $S^{-1} = \{-s : s \in S\} = S$, the Cayley graph $G = C(\Gamma, S)$ for additive group Γ and edge set S is the undirected graph having vertices the elements of Γ and edges between x and $y = x + s$ for $x, y \in \Gamma$, $s \in S$. The Cayley graph $G = C(\Gamma, S)$ is regular of degree $|S|$.

Let

$$S_{2^r,d}(a) = \{x \in \mathbb{Z}_{2^r}^d \mid \Delta(x, 0) = a\}. \tag{2.2}$$

Then the finite Euclidean graph $E(2^r, d, a)$ is a Cayley graph $C(\mathbb{Z}_{2^r}^d, S_{2^r,d}(a))$.

Recall that the eigenvalues of Cayley graphs of abelian groups can be computed easily in terms of the characters of the group. This result, described in, for example, [6], implies that the eigenvalues of the finite Euclidean graph $E(2^r, d, a)$ are all the numbers

$$\lambda_a^{(r)}(b) = \sum_{x \in S_{d,2^r}(a)} e_{2^r}({}^t b \cdot x), \tag{2.3}$$

where $b \in \mathbb{Z}_{2^r}^d$ and the exponential $e_n(x) = \exp\{2\pi i x/n\}$. In this section, we will study these eigenvalues $\lambda_a^{(r)}(b)$'s.

We define the following conventions which will be used throughout the paper.

- The notation $\delta(\mathcal{P})$ where \mathcal{P} is some property, means that it's 1 if \mathcal{P} is satisfied, 0 otherwise.
- For any $k \in \mathbb{Z}_{2^r}^*$. We define $I_{2^r}(k)$ the unique element $I_{2^r}(k) \in \mathbb{Z}_{2^r}^*$ satisfying

$$k I_{2^r}(k) \equiv 1 \pmod{2^r}.$$
- For any integer k and $x = (x_1, \dots, x_d)^t \in \mathbb{Z}_{2^r}^d$, $k \mid x$ if and only if $k \mid x_i$ for all i in $\{1, \dots, d\}$.
- For any integer k and $x = (x_1, \dots, x_d)^t \in \mathbb{Z}_{2^r}^d$, $k \nmid x$ if and only if $k \nmid x_i$ for some i in $\{1, \dots, d\}$.

Before beginning the discussion, we need to consider the Gauss sums over rings. For $c \in \mathbb{Z}_n^*$ define the Gauss sum

$$G_n(c) = \sum_{k \in \mathbb{Z}_n} e_n(ck^2). \tag{2.4}$$

If $(c, n) = 1$ and $n \equiv 2 \pmod{4}$, then (cf. Theorem 1.5.1 in [3])

$$G_n(c) = 0. \tag{2.5}$$

If $(c, n) = 1$ and $n \equiv 0 \pmod{4}$, then (cf. Theorem 1.5.4 in [3])

$$G_n(c) = \left(\frac{n}{c}\right) (1 + i^c) \sqrt{n}, \tag{2.6}$$

here the Jacobi symbol $\left(\frac{n}{c}\right)$ is defined as follows:

- If $c = p$ is prime then

$$\left(\frac{n}{p}\right) = \begin{cases} 1 & p \nmid n, \quad n \text{ is square mod } p \\ -1 & p \nmid n, \quad n \text{ is nonsquare mod } p \\ 0 & p \mid n. \end{cases}$$

- If $c = p_1^{r_1} \dots p_t^{r_t}$ is the prime decomposition of c then

$$\left(\frac{n}{c}\right) = \left(\frac{n}{p_1}\right)^{r_1} \dots \left(\frac{n}{p_t}\right)^{r_t}.$$

For more information about the Gauss sums, we refer the reader to Section 1.5 in [3].

For any $a \in \mathbb{Z}_{2^r}$ and $b \in \mathbb{Z}_{2^r}^d$ we define

$$f_{2^r}(a, b) = \sum_{v \in \mathbb{Z}_{2^r}} e_{2^r}(-va) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}({}^t b \cdot x + v {}^t x \cdot x), \tag{2.7}$$

and

$$g_{2^r}(a, b) = \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}({}^t b \cdot x + v {}^t x \cdot x) \tag{2.8}$$

If $r = 1$ then $f_2(a, b)$ is easy to compute.

Lemma 1 For any $a \in \mathbb{Z}_2^*$ and $b \in \mathbb{Z}_2^d$ then

$$f_2(a, b) = \begin{cases} 2^d & b = (0, \dots, 0) \\ -2^d & b = (1, \dots, 1) \\ 0 & \text{otherwise.} \end{cases} \tag{2.9}$$

Proof We have

$$\begin{aligned} f_2(a, b) &= \sum_{x \in \mathbb{Z}_2^d} e_2({}^t b \cdot x) + e_2(a) \sum_{x \in \mathbb{Z}_2^d} e_2({}^t b \cdot x + {}^t x \cdot x) \\ &= \prod_{i=1}^d (e_2(0) + e_2(b_i)) - \prod_{i=1}^d (e_2(0) + e_2(b_i + 1)) \\ &= 2^d \prod_{i=1}^d \delta(b_i = 0) - 2^d \prod_{i=1}^d \delta(b_i = 1) \\ &= \begin{cases} 2^d & b = (0, \dots, 0) \\ -2^d & b = (1, \dots, 1) \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

This concludes the proof of the lemma. □

The following lemmas relate $\lambda_a^{(r)}(b)$ with $f_{2^r}(a, b)$ and $g_{2^r}(a, b)$.

Lemma 2 For any $a \in \mathbb{Z}_{2^r}$ and $b \in \mathbb{Z}_{2^r}^d$ then

$$\lambda_a^{(r)}(b) = \frac{1}{2^r} f_{2^r}(a, b). \tag{2.10}$$

Proof We have

$$\begin{aligned} \lambda_a^{(r)}(b) &= \sum_{x \in S_{d, 2^r}(a)} e_{2^r}({}^t b \cdot x) \\ &= \sum_{x \in \mathbb{Z}_{2^r}^d} \frac{1}{2^r} \sum_{v \in \mathbb{Z}_{2^r}} e_{2^r}({}^t b \cdot x + v({}^t x \cdot x - a)) \\ &= \frac{1}{2^r} \sum_{v \in \mathbb{Z}_{2^r}} e_{2^r}(-va) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}({}^t b \cdot x + v {}^t x \cdot x) \\ &= \frac{1}{2^r} f_{2^r}(a, b), \end{aligned}$$

completing the lemma. □

Lemma 3 For any $a \in \mathbb{Z}_{2^r}$ and $b \in \mathbb{Z}_{2^r}^d$ then

$$f_{2^r}(a, b) = g_{2^r}(a, b) + \delta(2|b)2^d f_{2^{r-1}}(a, c), \tag{2.11}$$

where $c \in \mathbb{Z}_{2^{r-1}}^d$ satisfies $b = 2c$ given that $2|b$.

Proof We have

$$f_{2^r}(a, b) = g_{2^r}(a, b) + \sum_{w \in \mathbb{Z}_{2^{r-1}}, x \in \mathbb{Z}_{2^r}^d} e_{2^{r-1}}(-wa)e_{2^r}(tb.x + 2w^t.x.x). \tag{2.12}$$

We can write $x = 2^{r-1}x^1 + x^2$ uniquely where $x^1 \in \mathbb{Z}_2^d$ and $x^2 \in \mathbb{Z}_{2^{r-1}}^d$. Substitute into (2.12), we have

$$\begin{aligned} f_{2^r}(a, b) &= g_{2^r}(a, b) + \sum_{w \in \mathbb{Z}_{2^{r-1}}, x^1 \in \mathbb{Z}_2^d, x^2 \in \mathbb{Z}_{2^{r-1}}^d} e_{2^{r-1}}(-wa)e_2(tb.x^1)e_{2^r}(tb.x^2 + 2w^t.x^2.x^2) \\ &= g_{2^r}(a, b) + \left(\sum_{x^1 \in \mathbb{Z}_2^d} e_2(tb.x^1) \right) \left(\sum_{\substack{w \in \mathbb{Z}_{2^{r-1}} \\ x^2 \in \mathbb{Z}_{2^{r-1}}^d}} e_{2^{r-1}}(-wa)e_{2^r}(tb.x^2 + 2w^t.x^2.x^2) \right) \\ &= g_{2^r}(a, b) + \delta(2|b)2^d \sum_{w \in \mathbb{Z}_{2^{r-1}}, x^2 \in \mathbb{Z}_{2^{r-1}}^d} e_{2^{r-1}}(-wa)e_{2^{r-1}}(tc.x^2 + w^t.x^2.x^2) \\ &= g_{2^r}(a, b) + \delta(2|b)2^d f_{2^{r-1}}(a, c). \end{aligned}$$

This concludes the proof of the lemma. □

From Lemma 1 and Lemma 2, we have the following formula for the spectrum of $E(2, d, a)$.

Theorem 4 For any a odd and $b \in \mathbb{Z}_2^d$ then

$$\lambda_a^{(1)}(b) = \begin{cases} 2^{d-1} & b = (0, \dots, 0) \\ -2^{d-1} & b = (1, \dots, 1) \\ 0 & \text{otherwise.} \end{cases} \tag{2.13}$$

Lemma 5 For any $v, b \in \mathbb{Z}_{2^r}^*$ and $r \geq 2$ then

$$\sum_{x \in \mathbb{Z}_{2^r}} e_{2^r}(bx + vx^2) = 0. \tag{2.14}$$

Proof We have

$$\begin{aligned} \sum_{x \in \mathbb{Z}_{2^r}} e_{2^r}(bx + vx^2) &= \sum_{x \in \mathbb{Z}_{2^r}} e_{2^{r+2}}(v(2x + bI_{2^{r+2}}(v))^2 - I_{2^{r+2}}(v)b^2) \\ &= e_{2^{r+2}}(-I_{2^{r+2}}(v)b^2) \sum_{x \in \mathbb{Z}_{2^r}} e_{2^{r+2}}(v(2x + bI_{2^{r+2}}(v))^2) \\ &= \frac{1}{2} e_{2^{r+2}}(-I_{2^{r+2}}(v)b^2) \sum_{x \in \mathbb{Z}_{2^{r+1}}} e_{2^{r+2}}(v(2x + bI_{2^{r+2}}(v))^2), \end{aligned}$$

since $(2x + bI_{2^{r+2}}(v))^2 \equiv (2(x + 2^r) + bI_{2^{r+2}}(v))^2 \pmod{2^{r+2}}$. Let $a = bI_{2^{r+2}}(v)$ then a is odd as b and v are so. Thus, we have

$$\begin{aligned} \sum_{x \in \mathbb{Z}_{2^{r+1}}} e_{2^{r+2}}(v(2x + a)^2) &= \sum_{x \in \mathbb{Z}_{2^{r+2}}} e_{2^{r+2}}(vx^2) - \sum_{x \in 2\mathbb{Z}_{2^{r+1}}} e_{2^{r+2}}(vx^2) \\ &= G_{2^{r+2}}(v) - \sum_{x \in \mathbb{Z}_{2^{r+1}}} e_{2^r}(vx^2) \\ &= G_{2^{r+2}}(v) - 2G_{2^r}(v) = 0, \end{aligned}$$

where the last line follows from (2.6). This completes the proof of the lemma. □

From Lemma 5, we have the following formula for $g_{2^r}(a, b)$.

Lemma 6 For any $a \in \mathbb{Z}_{2^r}$ and $b \in \mathbb{Z}_{2^r}^d$ then

$$g_{2^r}(a, b) = \begin{cases} 0 & 2 \nmid b \\ \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va - I_{2^r}(v)^t c.c)(G_{2^r}(v))^d & 2 \mid b, \end{cases} \tag{2.15}$$

where $c \in \mathbb{Z}_{2^{r-1}}^d$ satisfies $b = 2c$ given that $2 \mid b$.

Proof We have

$$g_{2^r}(a, b) = \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va) \prod_{i=1}^d \left(\sum_{x \in \mathbb{Z}_{2^r}} e_{2^r}(b_i x + vx^2) \right).$$

From Lemma 5, if $2 \nmid b$ then $g_{2^r}(a, b) = 0$. Now, we suppose that $2 \mid b$. We write $b = 2c$ for some $c \in \mathbb{Z}_{2^{r-1}}^d \subset \mathbb{Z}_{2^r}^d$. Then

$$\begin{aligned} g_{2^r}(a, b) &= \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}(2^t c.x + v^t x.x) \\ &= \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}(v^t(x + I_{2^r}(v)c).(x + I_{2^r}(v)c) - I_{2^r}(v)^t c.c) \\ &= \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va - I_{2^r}(v)^t c.c) \sum_{x \in \mathbb{Z}_{2^r}^d} e_{2^r}(v^t x.x) \\ &= \sum_{v \in \mathbb{Z}_{2^r}^*} e_{2^r}(-va - I_{2^r}(v)^t c.c)(G_{2^r}(v))^d. \end{aligned}$$

This concludes the proof of the lemma. □

Putting Lemmas 2, 3 and 6 together, we derive the following simple formula for eigenvalues $\lambda_a^{(r)}(b)$'s of $E(2^r, d, a)$ in the spirit of formula (11) of Medrano et al. [8] and Theorem 2.9 of Medrano et al. [9].

Theorem 7 *Let $a \in \mathbb{Z}_{2^r}$, $b \in \mathbb{Z}_{2^r}^d$ and $r, d \geq 2$. We have two cases.*

1. *Suppose that $2 \nmid b$ then $\lambda_a^{(r)}(b) = 0$.*
2. *Suppose that $2 \mid b$. Let $c \in \mathbb{Z}_{2^{r-1}}^d$ satisfies $b = 2c$, then*

$$\lambda_a^{(r)}(b) = \frac{1}{2^r} \sum_{v \in \mathbb{Z}_{2^r}^d} e_{2^r}(-va - I_{2^r}(v)^t c.c)(G_{2^r}(v))^d + 2^{d-1} \lambda_a^{(r-1)}(c). \tag{2.16}$$

We also remark that most of results in DeDeo [4] can be derived from Theorem 7 and the properties of Kloosterman sums over ring \mathbb{Z}_{2^r} .

3 Ramanujancy of finite Euclidean graphs

Now we will study the Ramanujancy of finite Euclidean graphs $E(4, d, a)$ and $E(8, d, a)$. We are only interested in the case a odd as these graphs are disconnected for even a .

Theorem 8 *Let a be an odd integer and $d \geq 4$ then the Euclidean graph $E(4, d, a)$ is not Ramanujan.*

Proof Note that $G_4(1) = 2 + 2i$, $G_4(3) = 2 - 2i$ and if $v \in \mathbb{Z}_4^*$ then $I_4(v) = v$. Thus, equation (2.16) becomes

$$\lambda_a^{(2)}(2c) = \frac{1}{4} \sum_{v \in \mathbb{Z}_4^*} e_4(-v(a + {}^t c.c))(G_4(v))^d + 2^{d-1} \lambda_a^{(1)}(c). \tag{3.1}$$

Substitute $b = (0, \dots, 0)^t$ into (2.16), we obtain the degree of $E(4, d, a)$

$$\begin{aligned} |S_{4,d}(a)| = \lambda_a^{(2)}(0) &= \frac{1}{4} \{e_4(-a)(G_4(1))^d + e_4(-3a)(G_4(3))^d\} + 2^{d-1} \lambda_a^{(1)}(0) \\ &= 2^{d-2}(e_4(-a)(1+i)^d + e_4(-3a)(1-i)^d) + 2^{2d-2}, \end{aligned} \tag{3.2}$$

where the last line follows from Theorem 4. We have four cases.

Case 1. Suppose that $d = 4k$ for some $k \geq 1$. Then equation (3.2) becomes

$$|S_{4,4k}(a)| = 2^{8k-2}. \tag{3.3}$$

We choose $c = (1, 1, 1, 0, \dots, 0)^t$ or $c = (1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod 4$, respectively. From Theorem 4, $\lambda_a^{(1)}(c) = 0$. Thus, equation (3.1) becomes

$$\lambda_a^{(2)}(2c) = \frac{1}{4}((2 + 2i)^d + (2 - 2i)^d) = (-1)^k 2^{6k-1}. \tag{3.4}$$

But $|\lambda_a^{(2)}(2c)| > 2\sqrt{|S_{4,4k}(a)|}$, so $E(4, 4k, a)$ is not Ramanujan.

Case 2. Suppose that $d = 4k + 2$ for some $k \geq 1$. Then equation (3.2) becomes

$$|S_{4,4k+2}(a)| = \begin{cases} 2^{8k+2} + (-1)^k 2^{6k+2} & a \equiv 1 \pmod{4} \\ 2^{8k+2} - (-1)^k 2^{6k+2} & a \equiv 3 \pmod{4}. \end{cases} \tag{3.5}$$

We choose $c = (1, 1, 0, \dots, 0)^t$ then equation (3.1) becomes

$$\lambda_a^{(2)}(2c) = \frac{1}{4}(\pm i(2 + 2i)^d \mp i(2 - 2i)^d) = \pm(-1)^k 2^{6k+2}. \tag{3.6}$$

So $E(4, 4k + 2, a)$ is not Ramanujan.

Case 3. Suppose that $d = 4k + 1$ for some $k \geq 1$. Then equation (3.2) becomes

$$|S_{4,4k+1}(a)| = \begin{cases} 2^{8k} + (-1)^k 2^{6k} & a \equiv 1 \pmod{4} \\ 2^{8k} - (-1)^k 2^{6k} & a \equiv 3 \pmod{4}. \end{cases} \tag{3.7}$$

We choose $c = (1, 1, 1, 0, \dots, 0)^t$ or $c = (1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod{4}$, respectively then equation (3.1) becomes

$$\lambda_a^{(2)}(2c) = \frac{1}{4}((2 + 2i)^d + (2 - 2i)^d) = (-1)^k 2^{6k}. \tag{3.8}$$

So $E(4, 4k + 1, a)$ is not Ramanujan.

Case 4. Suppose that $d = 4k + 3$ for some $k \geq 1$. Then equation (3.2) becomes

$$|S_{4,4k+3}(a)| = \begin{cases} 2^{8k+4} + (-1)^k 2^{6k+3} & a \equiv 1 \pmod{4} \\ 2^{8k+4} - (-1)^k 2^{6k+3} & a \equiv 3 \pmod{4}. \end{cases} \tag{3.9}$$

We choose $c = (1, 1, 0, \dots, 0)^t$ then equation (3.1) becomes

$$\lambda_a^{(2)}(2c) = \frac{1}{4}(\pm i(2 + 2i)^d \mp i(2 - 2i)^d) = \pm(-1)^k 2^{6k+3}. \tag{3.10}$$

So $E(4, 4k + 3, a)$ is not Ramanujan.

This completes the proof of the theorem. □

Remark 9 For the smallest cases, $d = 2$ and 3 , finite Euclidean graphs $E(4, 2, a)$ and $E(4, 3, a)$ are Ramanujan. This can be checked easily by computer (see [4], p. 54).

Theorem 10 Let a be an odd integer and $d \geq 2$ then the Euclidean graph $E(8, d, a)$ is not Ramanujan.

Proof Note that $G_8(1) = (1 + i)2^{3/2}$, $G_8(3) = -(1 - i)2^{3/2}$, $G_8(5) = -(1 + i)2^{3/2}$, $G_8(7) = (1 - i)2^{3/2}$ and $I_8(v) = v$ if $v \in \mathbb{Z}_8^*$. Thus, equation (2.16) becomes

$$\lambda_a^{(3)}(2c) = \frac{1}{8} \sum_{v \in \mathbb{Z}_8^*} e_8(-v(a + {}^t c.c))(G_8(v))^d + 2^{d-1} \lambda_a^{(2)}(c). \tag{3.11}$$

Substitute $b = (0, \dots, 0)^t$ into (3.11), we obtain the degree of $E(8, d, a)$

$$|S_{8,d}(a)| = \lambda_a^{(2)}(0) = \frac{1}{8} \sum_{v \in \mathbb{Z}_8^*} e_8(-va)(G_8(v))^d + 2^{d-1}|S_{4,d}(a)|. \tag{3.12}$$

We have four cases.

Case 1. Suppose that $d = 4k$ for some $k \geq 1$. Substitute (3.3) into (3.12), we have

$$|S_{8,4k}(a)| = 2^{d-1}|S_{4,d}(a)| = 2^{12k-3}, \tag{3.13}$$

where we use the fact that $\sum_{v \in \mathbb{Z}_8^*} e_8(-va) = 0$ if a is odd. We choose $c = (1, 1, 1, 0, \dots, 0)^t$ or $c = (1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod 4$, respectively (to make $a + {}^t c.c \equiv 0 \pmod 4$). From Theorem 7, $\lambda_a^{(2)}(c) = 0$. Thus, equation (3.11) becomes

$$\lambda_a^{(3)}(2c) = \pm \frac{1}{8} \sum_{v \in \mathbb{Z}_8^*} (G_8(v))^d = \pm 2^{8k-1}. \tag{3.14}$$

But $|\lambda_a^{(3)}(2c)| > 2\sqrt{|S_{8,4k}(a)|}$, so $E(8, 4k, a)$ is not Ramanujan.

Case 2. Suppose that $d = 4k + 2$ for some $k \geq 0$. Substitute (3.5) into (3.12), we have

$$\begin{aligned} |S_{8,4k+2}(a)| &= 2^{12k+3} \pm 2^{10k+3} \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-va)(G_8(v))^2 \\ &= 2^{12k+3} \pm 2^{10k+3}, \end{aligned} \tag{3.15}$$

where the last line follows from $e_8(-va) = -e_8(-(v + 4)a)$ and $G_8(v) = -G_8(v + 4)$. If $d = 2$ then from (3.15), we only need to consider the case $a \equiv 1 \pmod 4$ (otherwise, $|S_{8,2}(a)| = 0$ and the graph is isolated points). So we can choose $c = (1, 0, \dots, 0)^t$ or $c = (1, 1, 1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod 4$, respectively (to make $a + {}^t c.c \equiv 2 \pmod 4$). Equation (3.11) becomes

$$\begin{aligned} \lambda_a^{(3)}(2c) &= \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-v(4u + 2))(G_8(v))^2 \\ &= \pm 2^{8k+1}(i(1 + i)^2 - i(1 - i)^2) = \pm 2^{8k+3}. \end{aligned}$$

So $E(8, 4k + 2, a)$ is not Ramanujan.

Case 3. Suppose that $d = 4k + 1$ for some $k \geq 1$. Substitute (3.7) into (3.12), we have

$$\begin{aligned} |S_{8,4k+1}(a)| &= 2^{12k} \pm 2^{10k} \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-va)G_8(v) \\ &= 2^{12k} \pm 2^{10k} \pm \begin{cases} 2^{8k+1} & a \equiv 1 \pmod 4 \\ 0 & a \equiv 3 \pmod 4. \end{cases} \end{aligned} \tag{3.16}$$

We choose $c = (1, 1, 1, 1, 0, \dots, 0)^t$ or $c = (1, 1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod 4$, respectively, to make $a + {}^t c.c \equiv 1 \pmod 4$. Equation (3.11) becomes

$$\begin{aligned} \lambda_a^{(3)}(2c) &= \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-v(4u + 1))G_8(v) \\ &= \pm 2^{8k+1}. \end{aligned}$$

So $E(8, 4k + 1, a)$ is not Ramanujan.

Case 4. Suppose that $d = 4k + 3$ for some $k \geq 0$. Substitute (3.9) into (3.12), we have

$$\begin{aligned}
 |S_{8,4k+3}(a)| &= 2^{12k+6} \pm 2^{10k+5} \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-va)(G_8(v))^3 \\
 &= 2^{12k+6} \pm 2^{10k+5} \pm \begin{cases} 0 & a \equiv 1 \pmod{4} \\ 2^{8k+5} & a \equiv 3 \pmod{4}. \end{cases} \quad (3.17)
 \end{aligned}$$

If $k = 0$ and $a \equiv 3 \pmod{4}$ then DeDeo [4] showed that the graph is disconnected and non-Ramanujan. In other cases, we choose $c = (1, 1, 0, \dots, 0)^t$ or $c = (1, 1, 1, 1, 0, \dots, 0)^t$ for $a \equiv 1$ or $3 \pmod{4}$, respectively, to make $a + {}^t c \cdot c \equiv 3 \pmod{4}$. Equation (3.11) becomes

$$\begin{aligned}
 \lambda_a^{(3)}(2c) &= \pm 2^{8k-3} \sum_{v \in \mathbb{Z}_8^*} e_8(-v(4u + 3))(G_8(v))^3 \\
 &= \pm 2^{8k+5}.
 \end{aligned}$$

So $E(8, 4k + 3, a)$ is not Ramanujan.

This completes the proof of the theorem. □

Putting Theorem 2.5 in [9], Theorem 11 in [4], Theorem 8 and Theorem 10 in this paper together, we have the following theorem.

Theorem 11 *Let $r, d \geq 2$, $a \in \mathbb{Z}$ and p is prime such that $p \nmid a$, then the Euclidean graph $E(p^r, d, a)$ is not Ramanujan except the smallest cases: $p = 2, r = 2, d = 2$ and 3 , and $p = 3, r = d = 2$.*

Acknowledgments

The research was performed during the author’s visit at the Erwin Schrödinger International Institute for Mathematical Physics. The author would like to thank the ESI for hospitality and financial support during his visit. He is also very grateful to Dang Phuong Dung and Si Li for many useful discussions and helpful comments.

References

- [1] J. Angle, B. Shook, A. Terras, C. Trimble and E. Velasquez, Graph spectra for finite upper half planes over rings, *Linear Algebra Applic.* **226-228** (1995), 423–457.
- [2] E. Bannai, O. Shimabukuro and H. Tanaka, Finite Euclidean graphs and Ramanujan graphs, *Discrete Math.* (to appear).
- [3] B. C. Berndt, R. J. Evans and K. S. Williams, *Gauss and Jacobi Sums*, Canadian Math. Soc. Series Monographs and Advanced Texts **21**, John Wiley & Sons (1998).

- [4] M. R. DeDeo, Non-Ramanujancy of Euclidean graphs of order 2^r , *Discrete Math.* **265** (2003), 45–57.
- [5] S. Li and L. A. Vinh, On the spectra of unitary finite-Euclidean graphs, (submitted to *Ars Combinatoria*). eprint arXiv:0802.1231 (2008).
- [6] L. Lovász, *Combinatorial Problems and Exercises*, North Holland, Amsterdam, 1979, Problem 11.8.
- [7] P. J. McCarthy, *Introduction to arithmetical functions*, Universitext. Springer-Verlag, New York, 1994.
- [8] A. Medrano, P. Myers, H. M. Stark and A. Terras, Finite analogues of Euclidean space, *J. Computational and Applied Math.* **68** (1996), 221–238.
- [9] A. Medrano, P. Myers, H. M. Stark and A. Terras, Finite Euclidean graphs over rings, *Proc. Amer. Math. Soc.* **126** (1998), 701–710.
- [10] A. Terras, Survey of spectra of Laplacians on finite symmetric spaces, *Experimental Math.*, **5** (1996), 15–32.
- [11] A. Terras, *Harmonic Analysis on Symmetric Spaces and Applications, I, II*, Springer-Verlag, New York, 1985, 1988.
- [12] L. A. Vinh and D. P. Dung, Explicit tough Ramsey graphs, *Proc. Internat. Conf. Relations, Orders and Graphs: Interaction with Computer Science* (to appear).
- [13] L. A. Vinh, Explicit Ramsey graphs and Erdős distance problem over finite Euclidean and non-Euclidean spaces, *Elec. J. Combin.* **15** (1), 2008, R5.
- [14] L. A. Vinh, Szemerédi-Trotter type theorem and sum-product estimate in finite fields, *Europ. J. Combin.* (to appear).

(Received 16 Feb 2008)